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- 20 minutes is : : _ (ay RS@?J@
(a) 30,800 m (bi Rs.

PART—A

The averagc'age of 5 members of a family 5. What is the remainder when (16° + 17° +

is 20 years. The youngest member of the 187 + 19%) is divided by 70 ?
family is 4 years old. Average age of all ' @ 0 '
the members of the family excluding the ‘
youngest member is : | (b) 1
(a) 24 - (@ 21
(b) 30 | d) 42
(c) 32 | L .
6. An article is sold at a loss of 5%. If it is
@ 40 | sold at-Rs. 72 more,Qhen there would be
The speed of a train is 92.4 kmph. The a profit of 4%. is ‘the actual price

distance covered by the train in first of the artic]

(b) 31,800 m
(c) 32,200 m
(d) 32,800 m

G.., The dist  th from the earth i
The difference between two pos’ ¢ distance of the sun from the earth is
DErs

0
700
Rs. 800

numbers is 10 and the ratio between 1488 lakh kilometers and light takes

is 5 : 3. The product of the two fumbers . 8 minutes and 16 seconds 1o reach from
is \ sun to carth. What is the speed of light ?
(a) 375 . (a) 200000 km/sec
(b) 325 (b) 250000 km/sec
(c) 275 | | . () 300000 kmy/sec
(d) 125 (_‘d) 350000 km/sec
The ra ages of Ram and Gopal is 5 . . 553 |
2 : 5 and the ratio of the ages of Gopal 8 If g=z= then what is 7p+2q equal
and Vishnu is 3 : 4. Then the ratio of the A
ages of Ram, Gopal and Vishnu is : to
@ 2:3:4 @ 329
(b) 3:4:5 : (by 5727
() 6:10:15 - @7
(@ 6:15:20 (d) 3/58
' 2 (Contd.)
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(a) 24

(b).30

(c) 32

(d) 40

O S T 92.4 kmph 21
g oy 20 e A oag W oW @ o
g7

(a) 30,800 m

(b) 31,800 m

(c) 32,200 m

(d) 32,800 m

QA gATHF el T e 10%‘3'
ﬁ%ﬁwﬁws3%|s‘rfa‘r 3?[

F S F 8 7

(@)

(b)'

(c)

(d)

T qer "y WY W AU

2: Séammmawﬁﬁg‘ﬁaﬁgﬁ
I 348, W OIE, MU g faey
O eg W AU w8 o7

@ 2: |
(b) 3:4:5
(c)y 6:10:15
(d 6:15:20

3.4

[ R

5.

8.

(163 + 173 + 183'+ 19 F 709 Referd
H W AN FAT B 7

(a) 0 |

(b) 1

(@ 21

(d) 42

w g A% B A S W 2 AR
I W e ¥ '

4% T T BT A
T 2 7 6 .

(@) 5007, CJ

(b) '
(¢)
008

ﬁgeﬁraiﬁmswﬁ»ﬁw%

@y wogd 4 g W | ®
8§ AT AT 16 9FvS @S B | WM dwT

oE FO g 7
(a) 200000 km/sec

(b) 250000 km/sec
(c) 300000 km/sec
(d) 350000 km/sec

@ -k Py o & 7

gfy P_3
q 4 . 7p+2q
(a) 3/29
(by 5727
(c) 7/31
(d) 5/58
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9.

10.

11,

12.

+0.002916 ++/0.00002916

A can do a work in 10 days and B can do

A sum of money on compound interest 13. Which one of the following sets of fractions
doubles itself in 5 years. It will become is in the descending order ?
4 times itself in : 25 4
® 375
(a) 10 years
} 52 4
(b) 12 years (b) ?,E’E
(c) 15 years '
54 2
d) 18 years s
(d) 18y © 2733
The remainders on dividing given integers g
a and b by 7 are respectively 5 and 4. @ 573
Whatis the remainder when abis divided | O
by 7 ? '
0.0689x0.0689 x 010689 +0.9311x0.9311x0.9311
(@) 3 0.0689.0.068%=6.0689 x 0.9311+0.9311x0.9311
) 4 @ o2
() 5 , 30 -
(d) 6 ' (b) 20
(c) 10
What is the value of /29 16 + @ 1
ual to ¢ .
: 15.
(a) 5.9949 \ |
(b) 5.9894 $ ¢
(e) 5.9984 - -
(d) 5.9994 ' :
Inac students, 40 take English

only, 25 take Punjabi only and 15 students
take no language. How many take both

the languages ? 16.

@ s
(b) 10
(¢} 15 _
(d) None of the above

L N

(©

the same work in 15 days. How many
days will it take if both of them start
working together ?

(a) 5 days
(b) 6 days
(c) 8 days
(d) 12.5 days

What is ‘X’ in the foilowing sequence :
17, 24, 18, 27, X ?

32

29

28

27

(a)
(b)

(@
(Contd.)




9. WH AN THGfg e ¥ S ¥ w13, Preaffew ¥ ¥ A w P wge

H QAT B W 8 g5 g Rhad saEl W OH B

(@) 103 @ 3775

(b) 12 T : - 524

() 7 3.5

(c) 15 ad

(d) 18 @ © %’3’5
10‘.?"%_{[&@‘3,3?}—{ ‘b’ﬁ?{ 7%%‘3“%—(7 4 5 2

FIT T FAW 5 4 Dokl @I F oAl @ 373 @

ab 7%%%?{%“%%%

R ?
(@) 3 14 p.ossw@.osswoml1><0.9311x0.9311
| ’ ©0.0689x0, 0.0689%0.9311+0.9311x0.9311
(b) 4 : 8 7
(¢) 5 .
(d) 6 b) 20
6 ) 10

11, 2916 +0.2916 + /0.002916 + /0. 0000290 @ 1
e gew 2 7 -

AR @@ # 10 ﬁaﬁgﬁ'm%aﬁ

(2) 3.9949 B3 w1 A 15 Rt A oo war 2
(b) 5.9894 g BT et 39 arn‘ EIRCIEC G T
5.9984 SADAGIEIE UL
(e) S. $ (a) 5f=
dy s.
(d) 5.9994 b 6fT - .
12. T & foenfeial ¥ @ 40 dad (c) 8f= '
U d 2,25 Baw dumEr o7 & @A 15 @ 125 &7
famdf 12 off wor T o9 2
Rl 3 A wem o ¥ 7 16. Prefifm srgem & X0 w3 7
@ 5 17, 24, 18, 27, X
‘ 32
) 10 @
(b) 29
15
© (c) 28

(d) scrgaaﬁﬁﬁé'aﬁ @ 27

(Contd.)
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17.

18.

19.

20.

How many numbers are there between 15
and 160 which are divisible by 17 but
not by 4 ?

(a) 6

(b)y 7

(c) 8

(d) 9

50 persons can assemble 40 machines in
30 days. How long will 25 persons take
to assemble 20 machines ?

(a) 15 days

(b) 25 days

(c} 30 days

(d) 45 days

Suppose X is the husband of Y and W is
the daughter of X. Again Z is the husband
of W and N is the daughter of Z.
relationship of N to Y is :

$

(a) Daughter
(b) Granddaughter

{c) Cousin

(d) Niece $

In a family is 5 years older than
mother an ther’s age now is thrice

the age of the daughter. The daughter is
now 10 years old. What was the age of
the father when the daughter was born ?

(a) 25 years
(b) 30 years
(c) 35 years
(d) 40 years

|_[=}

21.

Which one of the following diagrams
represents the relationship among cricketers,

players and graduates ?

(a)

NG

22. The missing number ‘X’ which fits into

the figure is : _
3 3

2 /s x4
21| 3C

() 10

® 9.

(c) 8
@ 7

(Contd.)




17.

18.

15 3% 160 ® &g Y ey g@mw §
S17 8 favrem g 4@ R 7

a) 6

by 7

() 8

@ 9 |
50 @f¥ 40 WA F 30RA ¥ W
mﬁiazswﬁﬁzomﬁmﬁ
fot & Sy

(a) 15fe=
() 25 A

() 30feT

19.

20.

C S AT

d) 45 k=

A ARG X, Y & 9fT 8, @ ow, X 9

AT B YT Z, W Tl g, 3ﬁ'{N

aﬁgﬂ%eNWYﬁwwa%

@

(b A AN
(© T e &’ '
@

AT #1 arg @ A
g1 ol e F I B wEg
o & 9 oFar &Y 7

%@wﬁarrﬁ?&% SEFS_faST%,-
10

.(a) 25 e

(b) 30 acf
(c) 35
(d) 40 7

-

21, Frfafag & @ a9 @1 & aRE, Bee,

gy @ el s & 7 '

(a)@‘ -
. @g\

(©)

ND

22 e ® fhe 2 ol @ g@r X T
#7 '

(a) 10
NOKE
| ) 8

(d) 7
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For the next Three (03) items that follow :

Consider the following data in respect of a

town of population 2,00,000.

23.

24,

Age Group Percentage
up to 15 years 28%
15—20 (above 15

and upto 20) - 16%
20—-230 (above 20

and upto 30) 10%
-30—40 (above 30

and upto 40) 12%
40—50 (above 40 |

and upto 50) 7%
Above 50 years Remaining percentage

If 10% of the population in age upto

15 years and 5% of the population ig
15—20 years group are literates, the t

number of literates is :

(a) 7,200 \ ‘

(b) 9,600 ¢

(e) 11,600

(d) 30,000

If 20% tion in the age above

50 years are literates the number of literates

is :

(a) 10,000
(b) 10,800
(c) 11,200

‘ (d) None of the above

25. Consider the following statements :

1. Number of people upto 30 years of
age is more than the number of people

above 30 years of age

2. Total number of people in the age
group above 20 years and upto
40 years 1s 42000

Which of the above statcments is/are

correct ?

(a) 1 only

(b) 2 only

(c)‘ Bnth@ ;

(d) Qher nor 2 ' ‘
.
: ny 8’s are there followed by an

n number and preceded by an odd

number in the I'lllI]'leI'
© 3825832832827848568784286 7
(a) 5
(b) 4
(¢) 3
(d) 2

. a, b, ¢ are three positive integers such

that a + b + ¢ = 203, then the number of
possible values of (-1)® + (-=1)* + (1)
(s : |
O

(b) 2

(c) 3

(d) 203

(Contd.)




I WA I AT (03) e @ forw

2.00,000 @ o fhd TR % IR W
Preafafeas sfest o B #fm .

23,

24.

15 a5 9= | 28%

15—20 (15 & 39X

20. TF) _' 16%
20—30 20 ¥ I

30 ) 10%
30—40 (30 & X

40 T%F) : 12%

40—50 (40 § IUT

50 @) 7% 26.

25,

Prefiie wedt w S Aiac
1. 30 g& g Al A ge 30 99
T FUC & Al A ogem T oA ?

2.0 209 @ e AT 40 9 qF B ey

WHE & WM W HA gEd 42000 8
SwFd oAl H FA owi/q wE 2/ 7
(@) e I

(b) Fam 2

© 19 23 @ -

@ 7 ar 1.7
%ﬂﬁ@ﬁ@%‘ﬁsiﬁ#

> - .
50 a8 ¥ FI My yfRyeremr a1 den AR gd ® w5 fasm
\ . S
AT 15T TF A B O10% FAGEn afi} |
3

15=20 af ng-wqe = 5% @ @
%,ﬁrmaaﬁﬁ@ﬁ@ﬂw% ? b
(a) 7,200 '. %
(b) 9600 &\
(c) 11,600

(d) 30,000 $

afR 50 o Y B 20% TAGE
AT 2, gl N | gemr w7
g ?

(a) 10,000

(b) 10,800

(c) 11,200

(d) swfwm § A€

o

27.

825832832827848568784286
(@ 3
(b) 4

(c) 3

@ 2

a, b, c A eTHF o Het @ WK § B
a+b+c=203T (1) + (1)° + (-1)¢
& dwifeq W A owen w27
(@) 1

®) 2

) 3

(d) 203
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28.

29.

30.

if ‘%’ ;neans minus, ‘-’ means
:multiplication, ‘=’ means plus and
‘x” means divided.by, then what is
10 x 5§+ 3 -2+ 3-equal to ?

(a) 5

(b) 7

(©) 853

(d) 9

How many triangles are there in the
following figure ?
O
(b) 12

(c) 14 \

(d) 16 ¢

Three statements nasA+B>C+D,
B+E= > B + E. Assuming
the stat be true, then which one
of the foilowing follows from the

statemenis ?

(a) A+B>2C
(b) A+ B >2D
(_c) A+ B>2E
d A>C

31,

32.

34,

(a} Cu

‘(0

b 3

Which metal is prominently used in mobile

phone battery ?
(a) Cu

{(b) Zn

{¢) Ni

(d) Li

Which one of the following is net extracted

from its ore ?

(b) Ag <:>

© AuC)

O
water pond the water is frozen/

solidified during winter, but fish. remain

alive because the temperature of water in

the bottom of the pond is :
(a) —4 °C
-1 °C
() 0°C

() 4°C

Which one among the following is used

as a rat poison ?
(a)
(b)
(c)
@

Sodium fluoride
Arsenic trichloride
Sodium fluoroacetate

Disulphur dichloride

(Contd.)




28.

' 29.

30.

S s AR I T, <+
&1 ol AW A o Foad R &
10x5+3-2+3 fFwa swex 8 ?
(@ 5.

(b)y 7

(c) 873

(d 9

Rreqifeg R % Rt Prge 8 2

{a) 8
(b) 12
(c) 14

) 16

iﬁ?f?mmw

$>C+D

>B+E!| T8

m——ragqﬁ; e €, 9% FuA)
DA W HAT S

B 7

(a) A+B>2C

(b) A+B>2D

(c) A+B>2E

(d A>C

11

32.

34.

ﬁﬁﬁﬁtﬁr—réﬁﬁqg@ﬁ ﬁ?@ﬁﬂ@
g e 2 7 |

(@) Cu
(b) Zn
(¢) Ni
(@ Li

freaofe ® 8 19 @1 @, sad e

3 Prasffs 72 e 7
(a) Cu @

(b) Ag

.('c) Au < ,
.

e
O

Wﬁmﬁfﬁgﬁzﬁg@%ﬁmw
WRI/SE T A 8, feeg Aot
Rrar aft <@t 2, @ 1 ok A o
&1 T TAGHEA ST I@H HRU B 7
(a) —4°C
(b)-—'~1°C
(c) 0°C
(d 4°C

ﬁﬁﬁ‘{%ﬁﬁ'ﬁﬁmw,%ﬁm%
FB ® ¥ H gyEd B 8 7

(a) feTw wqeIss

(b) IMEAF TrgiEs
(c) Hfsad wRIwERe

o (d) STEETHT SIEERITNES

(Contd.)




35.

36.

37.

38.

Hydrogen is the most abundant element
in the universe. However, the abundance
of hydrogen in the earth’s atmosphere is

very less. This is because :

(a) Earth’s gravitational field is too big

to hold so light an element

(b) Earth’s gravitational field is too small

to hold so light an element
(¢) Hydrogen does not contain neutron

(d) Hydrogen reactivity is very high

A modem is a :

(a) Code changing system

(b) Program conversion system

(c) Modulation and demodulation system

(d) None of the above is correct

of bits that the memory store\
(a) 55433432

*

(b) 43233554

(c) 354533432
(d) 33554

A geostatiofary satellite has an -orbital
speed éf :

(a) 6 hours

(b) 12 hours

{¢) 24 hours

(d) 365 days

39.

40,
"~ (a) 50 ml per kg bo

41.

A user has a memory device which st @
-2 M words of 16-bit size. The total IE

42.

Maximum energy expenditure among the

following occurs during :

{a) Swimming

(b) Running at a speed of 5.3 miles per
hour

(¢} Walking up stairs rapidly
(d) Carpentry, Metal working

Blood volume in human body is :
weight
(b) 60 ml per kg bo eight
{c) 80 ml pe weight
(d) 100 p@ody weight
The teer Spring’ frequently in the
n rétent past refers to :
itary coups in some Arab countries
) People’s uprising in some Arab
countries

{¢) New discoveries of o1l in some Arab
countries

~ (d) Rapid economic development in some

Arab countries

Why has ‘Chechnya’ region of Russian
Federation been in the news often ?
(a) Accident occurred in a huge nuclear
power plant
(b) It was a starting point of a gas pipe-
'line between Russian Federation and
 Europe
(¢) Large reserves of rare earth elements
were discovered
(d) Local community shows a separate
tendency

(Contd.)
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(c) BRI # =g A f
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&

HigH w4 B g7

(a) F IR YUl

(b) FEFT TIEO! TR
(c) Arge TaH fge womreh
() IHF F A N W oA R

36.

37.
fgazm) & s 16 amm @

2
. HUEld HYdl B I w5 g E%ﬁ
T T RS g v AN
-(a) 55433432 3

(b) 43233554 .
533@&

*

(c) 354
(d) 335544
Rl et Suwe A wel Wi R
gt & 7 _ '
(a) 662

(by 122

(c) 24 €2

() 365 &=

38.

42.

39. Preffea & & Rew TRRR ¥ walfe
Foi og B &7
(a) T |
(b) 53 M yRee @ =@ ¥ AT
() W q iAW

(d) el urged

40. 7T T N @@ R AH Fent ad
8 7
(@ 50 ml IR kg X
(b) 60 ml iy

(c) 80 ml ' AT
(d) 100 kg TR X

e “age T Ry Ffdse

41, g‘ﬁ?ﬁ ¥ Ay ¥ ar-aw
27

Wm*mﬂmﬁﬁzﬁﬁ@:@@(a) @@m%@ﬁﬁaﬁmmwﬁaﬁa

(b) FB 3@ W # wA-Fdw
(c) T @ M F Ja A A3 W
(d) Fo 3T W A &7 wlRfs Rwm

w0 wRaw W A &R I e A

i @ 8 ?

(a) Fome T ida iy o7 ¥ gdewt
&% | |

(b) 78 =& .qRET X g9 F Hw g
TRHRIET I IRH-¥F 497

(¢) &4 a1 Tl & fawme Fraw @
Y

(d) =afiw wgem & guE wgir yelfy
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43,

44,

45.

46.

47.

A genetically modified crop plant called
‘Bt Brinjal’ was created recently for
improving which of the following ?

{a) Drought-tolerance
(b) Pest-resistance
(c) Shelf-life

(d) All of the above

In which of the following States were large
reserves of Uranium discovered in the
recent past ?

(a) Arunachal Pradesh
(b) Andhra Pradesh
(¢) Jharkhand

(d) Rajasthan

What is ‘HIN1’ that has appeared in the
news quite frequently ?

(a) A supercomputer

(b) An indigenously developed r
system

(c) A night vision equipment imp
from Israel \

(d) A flu virus

3
‘Swat region’ whi
located in :

(d) Indonesia

The water of which of the following lakes
is used for producing salt ?

(a) Kolleru only

(b) Loktak only

(c) Sambhar

(d) Kolleru and Loktak

@

offen in news is .

48. In which one of the following regions does
Indus river originate ?

(a) Ladakh
(b) Lahaul
(c) Nepél ‘
(d) Tibet

49. Which of the following pairs is/are
correctly matched ?

I. Namdhapa Natignal —Meghalaya
Park

2. Mudum ife —Kerala
San
3. Ses@'n Biosphere — Andhra Pradesh

)

eserve
@ the correct answer using the code

1ven below :
(a) 1 and 2'only
(b) 3 only |
{c) 1 and 3 only
(d) 1,2 and 3

50. Which one of the following States does
not have common boundary with Bhutan ?

(a) Arunachal Pradesh
(b) Meghalaya

(¢) Sikkim

(d) West Bengal

51. Which one of the following places do the
rivers Alakananda and Bhagirathi merge
to form river Ganga ?

(a) Devap'rayag
(b) Rudrapréyag‘
(¢) Karnaprayag
(d} Vishnuprayag

14 . (Contd.).




43.

44,

- 45,

46.

47,

U FFERET. UG g ARY
1§ ‘Bt Brinjal’ Fed B, W B H

Preffee § @ Fed gur 3 fog gia

fapmn wr ?

(a) ST HWaRT

(b) ATIF-SNE WS

(c) Trarft smg

(@) I @
freafefeg ¥ @ g wou F g & A
Rfm & 78 st # @rer w7
(a) IEMESA YA

(b) A=Y YW

(c) #ATLETS

(d) TwrE

‘HIND, & g9=rd & g STESTC AT
W@ e ¥ ?

(a) TF FRIYLT

(b) T ¥ Rwfew W gumEd

(c) m‘%ﬂ@awﬁ%ﬁ@ﬂﬁmﬁ

(d) T&F W] IRE

qteaa’f@qa @3’

(a) AH $
(b)mﬁ?ﬁﬂ?
(d) I
Preafofa e & & e/ of
WG B IEA B FWAE Bl B 7
(a)%‘dﬂ?ﬁ@'@ :

(b) FaA AT

{c) I
(d) FE AT AFaE

| 89,

48.

49,

9

51.

frefofe & & e o &9 @ Ry =Q
T IE BT B 7

(a) ©=E

- (b) wEd

(c) AT
(d) Tassa

ﬁmﬁrﬁmmﬁrﬁaﬂamx@aﬁgﬂﬁa
3/8 1

Presfifas & & 219 § @ TSU W e
%wawi?ﬂ:siﬁm T 8?7

(a) JEUMHA Fa9l

(b) AU

(c) fafeswm

(d) ufE=Ew soE

Frefofee # @ 69 ©F o0 TR serRar
AR Ao Ffeet faw w1 w78 A
g7
(_a)WPT

. (b) =M

(c) huiyamr
(d) Tasogam

(Contd.)




52.

54.-

55.

53.

(¢} 1 and 3 only

If a Panchayat is dissolved, elections are
to be held within :

(a) 1 month
(b 3 month;s
(c¢) 6 months
(d) 1 year

.Under which of the following grounds can

the President of India be impeached ?
I.  Violation of the Constitution

2. Lack of good health

3. Incapacity |

Select the correct answer using the code

given below :
(a) 1 only
(b} 2 and 3 only

(d) 1,2 and 3

O

The National Soﬁg of India \kn rom

which one of the follow g'w’o_ s ?

(a) Gitanjali

(b) Anand Ma

{c) Bharat

@ s

Which among the following constitutes
the largest minority within India ?

(a) Buddhists

(b) Christians

(c) Jains

{d) Sikhs

56.

57.

58

9

59.

. (b)

A money bill can be. introduced in the
Parliament of India only with the
recommendation of :

(a) The President of India
(b) The Prime Minister of India

- (c) The Speaker of Lok Sabha

(dy Union Minister of Finance

Lok Sabha Secretariat is under the direct
supervision of : -

(a) Ministry of ramentary Affairs

(®) Ministo e Affairs
(c) Pri ster '
(d) Speakes/of Lok Sabha

3 _ :
sident of India is elected by the :
Members of Lok Sabha only

Members of both Houses of
Parliament only ‘
Members of Lok Sabha and State
Legislative Assemblies only

Elected Members of both Houses of
Parliament and State Legislative

(c)

(d)
Assemblies

Parliament can make a law with respect
to a matter in the State List in the national
interest if : .

(a) the Rajya Sabha passes a resolution
by not less than two thirds of the

members present and voting
(b) the .State makes a request
(c) the Lok Sabha passes a resolution
by a simple majority

().

None of the above is correct
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52, WX wE dEww Rufew B 2, @ R
wyg ¥ g B aEwws B 7

(a) T HEAT %?
V(b) d wEA (a) WTE &1 Iegufd
(c) & 7 (b) WG & FUTFHA
(d) w ad (c) WAIBET FT oA
s N (@) ¥ fa wh
53, Preafafem & @ fFa/fA smar/smari
TR T & TSRy IR FEEn wemr o 57, dew & ahaey ed @il gdaee J
T 3 7 | gar ¥ 7 |
1. =l s s () T T @
2. I8 WRE H AV (b)ﬂ—gw
3. e - (C)g
,(a)ml @ ﬁmﬁwmm
(b) dad 2 AT 3
© F 19 3 W‘“WWW@_ |
O (b) -Hawr wET B AT FEA F g
(d 1,23 3
C (¢) Faw dpEMr T TeE A faEr-
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(@ Maiefer farraael & Pty w3
(®) e $ s9. ww g ¥ % faw @ @ ¥ T B
(e) wred ¥ daq Ry a wed 2 AR
(@) W (a) TSUYS JURY X AT R I HH
55, Praffaa & & =9 ¥ ¥ Ag | - ¥ Fu D-fage deEdl g Heed
w W sewes ot Bkl gk 27 i wh \
() & (b) weT g AmwE R e @
(b) Fard (c) WHEM WU TA G Hhew Wi
@) R@ (d)@gﬁﬁﬁﬁﬁ’ﬁ:‘*ﬂﬂ’é’fﬁg
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60. What is “bank rate”, quite often in the

61.

62.

63.

(c).

news ? .

(a) It is the rate at which RBI lends to
Commercial Banks

It is the rate at which commercial
banks lend to general public

It is the rate at which World Bank
lends to governments

(b)

It is the rate at which commercial
banks lend to corporate houses

(d)

Which one of the following describes
Current Account Deficit in India ?

(a) Value of imports is more than value
of exports in a year

(b) - Value of exports is more than value

of imports in a year

(c)

Depreciation of rupee value against
US dollar during the financial year

A government falling into a debt-
trap

(d)

correct 7
1. It acts as a Banker’s Ba
2. It issues one rupee cqins

3. It acts as a lender
to sick industri

Select the correc
given below :

last resort

(a) 1 only,
(b) 2 0
(¢) 3 only
(d 1,2 and 3

The “Quarterly Review of Monetary
Policy” in India is released by :

(2) Union Ministry of Finance
(b) Finance Commission

(c) Planning Commission

(d) Reserve Bank of India

64. Which of the following were created by

65.

66.

9

With reference to Reserve Bank of India
which of the following statements i

67.

the resolutions of the Union Cabinet ?
1. Planning Commission

2. National Development Council

3. Finance Commission '

Select the correct answer using the code
given below :

(a) 1 and 2 only
(b) 3 only

(c) 1 and 3 only
(d) 1,2 and 3

“KG-D6 Block” o e news refers

to the site of ;
(a) Off-shore @ 2SErves
(b) Oil ¢xploration in Barmer region

(c) Kimbeglit€ deposits in Chhattisgarh

(d@e ¥as exploration in Central India
ention of Dongria Kondh tribe of
isha frequently appeared in media

ccause

(a) there was a steep fall in the sex-ratio
of the tribe in the last decade

they opposed the mining of bauxite
in their sacred hills

they opposed the penetration of
Maoists in their region

(b)
(©)

théy were demanding a special
category status for Odisha State

(d)

India is a regular/permanent member of :

1. Association of South-East Asian
Nations

2. Shanghai Cooperation Organization

3. South Asian Association for Regional
Cooperation

Select the correct answer using the code
given below : '

(a) 1 and 2 only
(b) 3 only
(¢) 1and 3 o'nly
(d 1,2 and 3
(Contd.)




60.

61.

& e, T yE @ H @A B, T 64. Prefeleg & @ Y7 @i/, 99 & whfed
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(a) T8 98 ¥¢ & R WX RBI aftfEs 1. WeET S
R A IAT AR ). e fawm uReg
(b) 7 9 T & P v alms & 4 v arnT
WE-FIERE & U T 8 '
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62.

63.
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¥ A9 q/d U Gl 28 7 O y fod Tow ¥ @ seenly & Rl s
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3
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w g B oo
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63.

69.

70.

71.

Which one of the following- is the main
objective of 12" Five Year Plan ?

(a) Sustainable development only

(b). Inclusive growth only

. (¢) Faster development with globalization

(d) Faster, sustainable and more inclusive
growth

With reference to Indian freedom struggle,
the famous “Surat Split” refers to :

(a) Formation of Muslim League in 1906

(b) Separation of Congres;smen ‘into
extremists and moderates

(¢) Home Rule Movement separately led

by Annie Besant and Lala Lajpat Rai

(d) | Differences of opinion between Netaji
Bose and Mahatma Gandhi

With reference to Indian freedom struggle,
“Communal Award” refers to :

(a) Separate electorate for Dalits OO

(b) Separate electorate fo \ITOT
communities in In 'arNu ing
Muslims, Sikhs an its® -

(c) Partition of Ben
of creating ¢
and Musl

(d) Nong o

the intention
between Hindus

bove

The Provincial Autonomy was granted by :

- (a) Indian Councils Act 1909
-(b) Government of India Act 1919

(¢) Government of India Act 1935
(d) Indian Independence Act 1947

72.

73.

9

74.

75.

The 1929 Lahore session of Indian

National Congress holds special significance

because :

(a) Civil Disobedience Movement was
launched from there

(b) Poorna Swaraj was declared as the

goal of the Congress

(¢} Nehru report containing significant
political reforms was released

(d) Demand for Paki was raised for
the ﬁrst.tii: | S

Who of t
prominentileader of Bardoli Satyagraha ?

aharlal Nehru

arji Desai

ng is known as the

Lala Lajpat Rai
d) Vallabhbhai Patel

In which of the following hills tea is
cultivated ?

(a) Maikala hills only

(b) Nallamala hills only

(c) Nilgiri hills

(d) Maikala hills and Nallamala hills

Which one of the following can be used
as both explosive and a fertilizer ?
(a) Ammonium nitrate

(b) RDX

~ () Superphosphate
{d) Ureca

(Contd;)
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69.

70.

71.
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(d) GE

i T e g e @ e 7
(a) Iema Ffiew wre 1909 -

(b) MEHAT A% W T 1919
(c) mEAAT Hw W wEe 1935

(d) 3T USw wT 1947

72, W TS U B 1929 F ABIR WA

&1 fafw weed faferg 8 7

() WWW@%@EW

T

(b) 9ol @O F OFAT F AT WO
foar | '
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RAE oy o |

(d) WBel A T forw =i g
TI.% .
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it
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(d) Asa wEfydl IR Teawar wsisal

75. Prfofem # @ g @ @, feemies AT
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37

(a) FAIEH AT
{(b) RDX

() gowiEhe
@ ghem
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PART—B

. 76. The first pfivate sector undertaking where 80. In a Department of Atomic Energy facility,

CISF was-deployed is CISF is supposed to take care of :

(a) Rebance
{(b) Wipro
(¢} HCL

(d) Infosys

(a) Safety and security incidents
(b} Security incidents only
(c) Safety incidents only

{d) Anything happening to the facility

77. In security work, behaviour detection is a as first responder deployed there
technique of identifying a potential threat .
by : 81. In a Nuclear Powe (NPP), which -
(a) talking nicety with a person one of the fol security systems is
(b) talking 7ﬁrme with a person adopted °Q -
(c) observing how the person behaves e tif security system

- (@
with his Co-passengers tier security system

(d) None of the above : .
Three tier security system

78. Who among the following is the @ d) Comprehensive security system

(a) Zonal DIG are generally set for a walking speed of :

(b) Sector 1G \ (@) 0.5 m/s 10 2.5 m/s

\ ¢
EZ; ng e O (b) 1 m/sto 5 mis
ead of the

sanctioning authority for withdrawa
GPF for enrolled member of CIS] ? 82. The Door Frame Metal Detectors (DFMD)

() 2 m/sto 10 m/s

passengers are kept () *5 m/s to 10 m/s -
port so that :

(a) arrivifigypassengers may not again 83, Which one of the following is the best
board the plane

79. Arriving and d
separale at

way to defuse an IED (Improvised
(b} arriving passengers may not transfer

. Explosive Device) ?
a weapon to the departing one

(c) arriving and departing passengers may (a) Surround it with sand bags
not exchange the hand baggage (b) Pul water on it

(d) All of the above are correct (c) To let it explode itself
(d) None of the above

22 (Contd.)
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76. YoM WEAT AFex Suwd, RH CISF+1 80, Felt womy sl gfaer fawm &, CISF &

77.

78.

79.

g B m oo, #®@F @ 8 7
(a) Tomaa ' |
(b) .

(c) HCL

(d) TRIEE
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g -
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g
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T E

e g7 \
R
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B B A o e B
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81.

g Y @Y S¢4 @ M AR
g7

(e e () ST g (Rrrafeh)

i

Rl

(b) daa geenm (RARET) s
(c) Haw wXenm (Qwdl) wedw

(d) ghRw ¥ a7 aen o ¥, ¥8f
T TUH T v R _

82. SIX WA gx §Yus (DFMD) @THIG:

0 w@F = 9T qT B ¥ 7
(a) 0.5m/s ¥ 2.5 m/s

) 1 m/s¥ 5 ms

(c) 2m/s¥d 10 m/s

(@ 5m/s¥ 10 m/s

83, ﬁmﬁﬁaﬁ%ﬁ%mw, IED (Fraiices

freRes gfm) = Blwe o7 &1 Fa@

a1 qlw B 7

(@) W T & & & ¥ I
(b) TR Ol sTET

(¢) T I3 am faemz BF 2
(@ sufw ¥ ¥ = A
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84. An assembly is declared unlawful if :

85.

86.

(©

" (d)

{0

(a) it consists of 5 or more persons who
are raising slogans against the
government |

(b) it is the marriage party who are

blocking the road

(¢) it consists of 5 or more persons sitting

on a hunger strike to protest against

water shortage

(d) None of the above

A child of 10 years of age commits a
crime. Which one of the following
consequences will follow 7.

(a)

He will be tried in a juvenile court

under all circumstances

(b)

. on account of his age
He can be tried in a o%f

law

None of the

A cognizab is one in which :

(a) police can search premises without

watrant

(b)

police can arrest without warrant
police has to file a charge sheet

(d) Al of the above

He can not be accused of any F@

87.

A contingent of CISF led by SI is on
patrolling duty at night in a steel plant

- area. They are attacked by two criminals

. in which one constable is severely injured

88.

9

89.

90.

and the criminals.escape with the property.
An FIR ‘will be lodged by CISF for :

(a) Theft -
(b) Dacoity
(c) Robbery

A CISF perso
truck driver

tory gate. Who can

be prosectited under the law ?

(a)'CI‘

the CISF personnel and the truck
driver

personnel only

¢} truck driver only

(d) the CISF personnel and his in-charge

A CISF personnel takes home government
property issued to him with a dishonest
intention. He can be accused of :

(a) theft

(b) mischief

(c) breach of trust
(d) All of the above

Right of private defence empowers :
(a)
(b)

to shoot the attacker

to save a third person from the

‘attacker _
(¢) to use enough physical force to
~ restrain an attacker
(d) All of the above

{Contd.)
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91.

92.

93.

94.

A thief confesses before a police officer
based on which stolen property hidden at
a place is recovered. This confession :

(a}) will not be admissible in the Court
of law

() will be admissible in the Court of
law

(¢) will be admissible upto the point of
recovery of stolen property

(d) None of the above

Dying declaration is considered to be an
important piece of evidence because :

(a) the person making it is dead |
(b) 1t is recorded without fear of police

(c) the person making it is under
impression of impending death

(d) None of the above

Lock-out in an individual establis ) .

means -

(a) temporary closing of lace of
‘ employment

(b) suspension of work

(c) refusal by an to continue

to employ umber employed by
him
(d) All above

Forces shotlld observe human rights in
their work as :

(a) laws and regulations say so

(b) they are part and parcel of a civilized
society

(c) defaulters will get punished

(d) National Human Rights Commission
says so

-95.

96.

98.

Under the RTI Act, 2005, CISF is exempted
for answering queries :

(a) on any matter pertaining to its
functioning as it is a CAPF

~(b) on any matter except matter involving

human right violations

{c) on any matter except matters
involving human rights and corruption

(d) is not exempted on any matter except

operational mat

To commit t om a house is a crime
under secii : . )
IP .

(a) 37

. 0JPC
1 IPC

None .of the above

To ensure proper protection of ‘Human
Rights’, which one of the followmg should
be ensured ?

(a) -use force to arrest quickly

(b) inform the person about the reason

for his arrest

{c) isolate him from rela}iveé and friends

(d) send him for medical examination

after 24 hours

Use of force in seif-defence means :
(a) in the defence of self and others

(b) -in the defence only of the person
against whom Force is being used

(c) inthe defence of government agencies
(d) None of the above
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99.

100.

: (b) a hard @
~(a) speak anything to- propagate your parCOfa dmputer

101.

102.

“Double Jeopardy” means : - 103. Microsoft Office is a :

(a) a person' getting two punishments for ' (a) Computér software‘
an offence (b) Computer hardware

(b) a criminal act is covered under two (¢) Headquarters of Microsoft Corhpany ‘
offences

(¢) second trial of the accused for the

(d) None of the above

same offence _ 104.“An operating system” in a.computer

indicates :

(d) None of the above

Religious freedom under the Indian

Constitution means :

religion

(b) convert others to your religion

(c) establish a religious place at any place

in the country .
(d) None of the above @
105
Forces. The symptom(s) is/a\

(a) fever with cold . 2.

(b) shivering

(c) fever at fixed“ithes

(d) All of.th& abdve | 3.

‘Spreadsheet? is a term used in which one

of the following ?

(a) MS Word

{(c) ase

(a) a software which operates the

computer

joins the various

ained operators to work on
‘ . .
computers
a permission given by the computer

manufacturer to start the computers

. When CISF personnel appiies for VRS :

Malaria is a rampant disease a:tngo 1.

His/her supervisory officer has no

choice but to accept it,
It can be accepted by an authority'
which is equivalent or higher than
the appoinfing authority.
It may or may not be accepted by

the appropriate authority.

Which of the above statements is/are

correct ?

C(a) 2 only

(b) Clothing 'and items
(c) PowefPoint presentation

(d) MS Excel

(by 1,2 and 3
" (c) 2 and 3 only
(d) 1 only

(Contd.)
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106.If a passenger refuses personal search at
 the time of the pre-embarkation check at
the airport, the CISF should :

(a) arrest him

(b) arrest him and hand him over to the
police

(c) forcibly search him

(d) None of the above

107. Which one of the following is not correct
with regard to the procedure to be followed
after arrest ?

(a) hand over the arrested person to a
police officer without unnecessary
delay

(5) .if police officer is not there take the
'arrested person to the nearest police
station

(c) keep the arrested person in uni lo‘
for questioning %

(dj give a report re
circumstances of es*

108. During deploy in private sector,

onnel deployed with

(a) will not"function under the CISF
(b)
(c)

will function under the local police

will function under the Managing
Director of the company '
A(d)

will function under the overall

operational control of the CISF

110.

109. CISF can be withdrawn from any private

sector'undertaking :
(a) -at any time

)
(©
(@

by giving one month’s notice .
by giving three months’ notice

whenever desired by the Director

General

A member of the force can be recalled

from leave at any,tim

(a) by the @ empowered to
: sancyi eave |
(b) OHI)Q

, ( By the District Magistrate of the
district where the person is deployed

) None of the above

Commandant of the Force

1. The difference between one megabyte and

one kilobyte is approximately - -
(a)
{b) 1 gigabyte

(c) 100 kilobyte
(d) 1 Million bits

1000 kilobyte

112. To shoot and kill a person with an intention
to kill is a crime under section : |
(a) 304 IPC
(b) 308 IPC
(c) 302 1IpPC

(d) 307 IPC

(Contd.)
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113. Attempt to commit suicide :.
(a) 1s a crime under section 309 IPC
(b) is a‘crime under section 304 IPC
(c) is a crime under section 306 IPC

(d) is not a crime

114. Rash and negligent driving is a crime under

section :

(a) 379 IPC

(b) 375 IPC

(©) 279 IPC

(d) 278 IPC : .

'115. To eve tease a woman is a crime under

section :

(a) 324 IPC
(b) 354 IPC
(c) 326 IPC

(d) 363 IPC
CISF is inducted in an undertaki gQ

116.

approval of MHA and :

(a) completion of r(huction
formalities and p of security
deposit

(b) orders of D1 General

(¢) recrui t ofconstables

(d) N the above

Which is not a major penalty under CISF
Rules ?

(a) Dismissal from the service

117,

(b) Withholding of promotion
(c} Compulsory retirement

(d) None of the above

32

118. During search, property found on the

person will be :
(a)
(b)
(c)

'kept in the quarter guard of the unit
képt in safe custody of Commandant_

seized and sent to the police station

along with the person
handed over to the guardian of the

@

.person

119. While making arrest ber of the Force

can :

(a) actuall or confine the body

of the arrested person

(b)l=can piiSh the person
.
( hand cuff the person

use his strength to tie up the person

@0. In case of death or injury of CISF personnel

ex gratia payment is paid at rates fixed :

(a)

by the State Government in that State
where the person is working

(b)
(c)
(d)

by the District Magistrate
by the Managing Director

by the Government or amount

company pays to its employees

121. While depositing firearm in the quarter

guard what should you ensure ?
(a)
(b)
(c)
(d)

Fire arm has been oiled properly
Fire arm has been cleaned '
Fire arm is without oil

The chamber has been emptied and

magazine taken out properly

(Contd.)
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122.

123.

124.

125.

“Force Custody” means :

(a)

arrest or confinement of a member
of the Force in accordance with rules
under the CISF Act

(b)
(c)

force the person into custody

put the person in the quarter guard

under custody

(d)

None of the above

Which one of the following is ﬁot a part
of Collapse Structure Search and Rescue
(CSSR) Team in a NDRF BN ?

(a) Hydraulic Spreaders

(B) Personal Contamination kit

(¢) Air Lifting Bag

(d) None of the above

In which one of the following cle@

one can install video analytil:\
object recognition ? . -

L 2
(a) PTZ camera

(b} Fixed camer
(¢) CCTV came

(d) All ove

Which is the Force that is designated to
deal with anti-hijacking operations in
India ? :

(a) CISF

(b)y SPG

(c) NSG

. (d) NDRF

126:In -an Airport Terminal Building with
Concourse Plan your hand baggage is
X-rayed at :

(a) Entry into the Terminal Building
. (b) At the Boarding Gate

(¢c) At Check-in Counter

(d) All the above places

ing is a part of
al Equipment ?

127. Which one of the foll§

Bomb Detection
(a) NLID é
(b) ElecttonicStethoscope

kad Line Set

of the above

evel I of the In Lme Baggage System

automatlcally rejects all

baggage
contammg :

{a) explosives’

(b) fire arms

(c) dangerous goods

(d) All of the above

129. The maximum protection offered by NIJ

Level 11l Standard Bullet Proof Jacket is
against the following: :

(a)_ .38 bullet

(b) 9 mm

(¢) 7.62 mm

(d) None of the above

(Contd.)
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130. A “Dirty Bomb” is :
(a) an explosive device with RDX

(b) an explosive device which fails to
explode

(c) a radiological dispersal device

(d) None of the above

131, In the address http://www.google.co.in/,

http is :

(a) a protocol

(b) world wide web
(c) home page

(d} a domain name

132, Web pages are written in :
(a) HTML

(b) Visual Basic

(c) COBOL

(d) Binary coded form

The unit of data transfer rate is %
.

133,
- a) bits per second
(b) hertz
{(c) kilohertz

(d) bytes p ond

134. Using which one of the following,

statistical analysis of data can be done ?
(a)
(b)
(c)
(d)

spreadsheet
word processor
text editor

browser

139,

135. Which one of the following is -n_ot a
removable storage media ? '
(a) floppy disc
(b) CD-ROM
(¢) Hard disc .
(d) USB pen drive

136. A computer can not start without :
(a) a word processor
(b) a text editor
(c) a paint progr

(d) an operati
137. Which 0n&®gwing is not an output
device ? _ '
(a) ers
@tor
canner

) plotter

O i;S.JQining unlawful assembly armed with .

deadly weapon is punishable-under which
section of the Indian Penal Code 1860 7

(a) Section 144
(b) Section 143
{c) Section 145
(d) Section 151

If an unlawful assembly can not be
otherwise dispersed, and if it is necessary
for the public security that it should be
dispersed, the Executive Magistrate may
cause it to be dispersed by :

(a)
(b)
(c)
(d)

police force
general public
government officials

armed forces

(Contd.)
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140. As per the provisions of Code of Criminal
Procedure 1973, who has the power to
issue search-warrant ?

(a) the Court

'(b) the police officer
(c)
(d)

the armed forces
the Exccutive Magistrate

141. A police officer seizing the property under

section 102 of the Criminal Procedure
Code 1973 shall forthwith report the
seizure to

-(a)
(b)
(c)
(d)

the Judicial Magistrate
the Executive Magistrate
the Commissioner of Police

the Office in Charge of the police
station of the arca

142. A warrant of arrest issued by a Court under
the Code of Criminal Procedure need not

necessarily :
(a)
(b)

be In writing

(c)
(d)

‘A’ sees a ring belo

directed to the police oﬁ‘k

bear the seal of the Court .

143. *Z’ lying on

intending to take

and detentigg, “A’ hides the ring in a place
where it improbable that it will
ever be fo by ‘Z’, with the intention

of taking the ring from the hiding place
and selling it when the loss is forgotten.
"A’, at the time of first moving the ring
has committed :

@)
(®)
©
@

no offence
theft
criminal breach of trust

criminal misappropriation of property

r fear of search

C ) (c)
signed by the presiding officer, o@
Court : '

144.°7’, going on a journey, entrusts his plate
~ to ‘A, the keeper of a warehouse, till Z
shall return. ‘A’ carries the plate to.a

goldsmith and sells it. A has committed
(a) no offence -

(b) theft

(¢) criminal breach of trust

(d) criminal misappro@giation of property

‘A’ having joi with ‘Z’ in a
horse, shc@@e, intending thereby

145.

to causeWwrongful loss to ‘.Z’. A has
Cco edy;

&
criminal breach of trust

criminal misappropriation of property

mischief

-*

(d)
146. The _prétection of Article 20(3) of the

Constitution is net available to :
(a)

Confession made thfough intelligible

gesture under compulsion

(b) Confession made through the
preduction of document or thing under
compulsion '

(c). Confession of guilt made in police
custody by words

(d) " Confession of guilt made to a friend
who visits the accused who is in |

police custody

(Contd.)
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147. When the genuineness of the electronic

record produced as evidence is in question,
then oral admissions as to the contents of
electronic records :

148.

(a)
(b)
(©)
(d)

can not be made
are not relevant
are relevant

can be made with the permission of
the Court

An admission can not be proved by or on
behalf of the person making it when :

(a)

" (b)

(c)
(d)

it is of such a nature that, if the person
making it were dead, it would be
relevant as between third persons
under section 32 '

it is relevant otherwise 1han as an
admission

the other party disputed it

-it consists of a statement of the

existence of any state of mind or body,

body existed, and is accompanied B
conduct rendering its
improbable

*

149. In case of armed forces, the fundamental
rights guaranteed under Article 14 and 19
of the Constitution are :

() available only according to law made
by Parliament

(b) available to them in the same way
as they are available to other citizens

(¢} available only at the discretion of
President depending upon the
circumstances

located EL®

e

New Delhi

(d) not available t
150. National b@hts Commission is

@ ) Chennai

relevant or in issue, made at or abow
the time when such state of mind Q
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